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1.

5.

found in the present day District.
(A) Ranchi (B) Hisar
(C) Kurukshetra (D) Angeerasa

The term Mesophyl

(A) Aquatic plants
marine waters

(B) These are plants grow
with optimum soil water

prevailing for major part of :
(C) Plants growing in extreme W€
conditions

(D) Under water growing plants

ther

Who among the following leaders moved
“Objective Resolution” in the Constitutional
Assembly 7

(A) Jawaharlal Nehru

(B) Dr. B. R. Ambedkar

(C) Dr. Rajendra Prasad
(D) Vallabh Bhai Patel

The war of Kurukshetra was narrated to
Dhritarashtra by

(A) Shankaracharya
(B) Madhvacharya
(C) Sanjay

(D) Vallabhacharya

If 2 is a zero of polynomial

f(x) = ax*=3(a - 1) x - 1, then value
olals

N %
(B -%

©) =Y
(D) None of thesa

5000 years old Indus valley civilization,

LR TR

(A) @R A HS 91 § I a1t FeArd 0y

(B) 4 =4 % AT gp d 9T S 9T
I9gE ga1 oe feufadt 4 ga1 8§ I
EISRIDE

(C) ftrpe sitgy 1§ Idam 1Y

®) U F e a0

ffefaa 8 3 F19-8 391 3 §fay= a9 8

“'Iem yEE | @M

(A) HEATETATA AE®

(B) =. #fi. 3. EEw

(C) &i. TmE wH18

(D) FeAY 918 92

F4iA 5 GG I AU Y 4

g-{m'rl

(X) s

(B) weATHHE

(C) H5™

(D) FeowT=ETd

gfe FgIEH f(x) = ax? — 3(a — 1) x - 1 FTF
A28, MaFuaaE -

a2
® -%

© -%
(D) ¥ & F1d 74

5000 H1 T &y vt wvaren adum i
& & faeh

A (8 fir
©) T ©) i
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6. An object 4 ocm

10.

in size, is plac
fniob) IS placed at 20 cm
ont of a concave mirror of focal length

10 i
cm. At what distance from the mirror

should a screen be pl
aced|i
a sham image ? placed in order to obtain

(A) 20 ¢m from the mirror
(B) 10em from the mirror
(C) %‘ cm from the mirror

o) 1L

3 cm from the mirror

Find the word which is different from the
other 3 options given below.

(A) Mathematics (B) Arithmetic
(C) Algebra (D) Geometry

ISRQO's first woman scientist who recently
spent over 403 days in Antarclica is

(A) Tessy Thomas
(B) Mangala Mani
(C) Nandini Harinath
(D) Anuradha T. K.

New States come to exist through union,
consolidation, confederation etc. Here
confederation refers to

(A) Form of Union where Centre is strong
and States are weak

Form of Union where States are strong
and Centre is weak

Some States have strong power and
Centre is also strong

Equal power sharing between Centre
and States

(B)
(C)

(D)

Find the number which is not like the other
3 numbers.

(A 1 ® 2i
©) ©) i

10.

e S LA R L LU

gﬁﬁﬂsﬂﬂ)ﬁﬂ?{:ﬁmmﬁ:ﬁﬁﬁ

o1 8 3 siefaea H 403 feril A v e

=refia &0

(A < FTHE

(B) el Hiv

(c) AfeAl Bty

(D) FFaE A, &

0 TS U, A S §h AT A

sfea 1 o1 § | 9l v 8 gehia @

(A) TH F1 w9 el g AfFaaed T T
FHAN B &

(B) HY F1 ¥9 Fel U4 e i F3
FAS B 8

(@) Fo Tsal § i wifEw €l @ 3
%z off e g B

(D) %z 3 =4t & @9 gom w9 @ wfE
EARELIIRAGIES

TE HET I S 3 3 wEm a0
ECAR

(A 14 ®) 3

(@) :% (D) 15-%
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11. The values of x and ¥ salisfying the
X_Y_4 are
equation EEJ+§=E and <b
(A) x=a,y=b
(B) x=2a, y=—2b
(C) x=a,y=-b

(D) x=2a,y=2b

12.  Skill of archery was the test in the
sSwayamvara of

(A) Parvati
(B) Gouri
(C) Meenakshi
(D) Draupadi

13. The device which converts sound 10
electrical vibrations
(A) Speaker
(B) Microphone
(C) Integrated Circuit (IC)
(D) Stereoscope

14. During the debate on citizenship In the
Constitution Assembly, a famous quote,
“There cannot be any divided loyalty”, is
said by

(A) B.N. Rao

(B) Somnath Lakhiri

(C) Govind Vallabh Pant
(D) None of the above

15. Findthe missing letters (?) from the options
for DW, 2, Lo, PK, TG, XC.
(A) FU

(8) EV
(C) HS
(D) IR

11.

12.

13.

14,

15.

I 000N

- e E[Eﬂ]_,,%:gam i_%mﬂﬁﬁ@g

a
0 a1 x 3R y F A
(A) x=a,y=b
(B9 x=2a,y=-2b
(C) x=a,y=-b
(D) x=2a,y=2b
daTsi =1 F 19
Tiia 4t |
(A) T
(B) i
(C) Hranafi
(0) #nieh

A% 39 S €afd 1 feregm qo § ager 2
(A) T

(8) HIEFIEH

(C) g ity (smé..)

(D) sy

#ﬁmmﬂﬂ‘mﬂﬂmmmm%aﬁm.ﬁ
uftrg Fum, FTE ot FwE fawf o
it s @ 7

(&) . w1, g

(B) HHAY fed

(C) M= Feey v

(D) 7 & = 7

OW, 2, LO, PK, TG, XC ¥q farrenii i &
& (?) 9 FE | %

(A) FU
(8] EV
(C) HS
(D) IR

=

_ FEgany
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16. Whi
ch of the following statements s wrong

17.

18.

19.

t Deccan Plateay 7
(AY" This is bordered by the Western Ghats
In the west, Eastern Ghats in the east
and the Satpura, Maikal range and
Mahadeo hilis in the north
its western hills locally known Dy
different names such as Sahyadri In
Maharashtra, Nilgiri hills in Karnataka
and Anaimalai hills in Tamil Nadu and
Cardamom hills in Kerala
Anaimudi, the highest peak of
Peninsular plateau is located on the
Anaimalai hills
The Eastern and the Western Ghats
meel each other at the Shabarimala
hills

(B)

(C)

(D)

Mahabharata war was fought during
(A) 900 BC (B) 800 BC
(C) 700BC (D) 600 BC

The potential difference between 2 points in
a current carrying conductor when 1 joule of
work is done to move a charge of 1 coulomb
from one point to the other

(A) 1 ampere (B) 1 voli

(C) 1 newton (D) 1ohm

In order to improve the condition of children,
has been implemented in Haryana.

(A) Integrated Child Development
Project

(B) Innovational Child Development Plan

(C) Indian Child Development Plan

(D) International Child Development
Project

Solutions of the equation

J3x2 +11x + 63 =0 are

A V2,6 ® 75~
©2& © B

16.

17.

18.

19.

20.

4/2018 (1) (M17)

FaE YR F Hay §f PrefafEs § & #-m
FUTEAR?

(A) FEhR! €@ ofvem § offedt g, of #
T =R 3R I d wage, dwe Ao
3R e i wmifeat €

(B) ¥H#! gfvadt yeifgal zurfta = @
fafie amt @ 42 s § =z,
| st veifzal si 3 i Fehm
ygifeai & 9 8 A wreh §

(C) HFATEHE, YrEig TBn ) w30
ATel SA-HeTs %1 BTGt ° fem

(D) T SR afrend) a1z v 26t @ s
vErfedl 7 fied §

% 4R 23 |

(B) 800%. 4.

(Qy 600%. 9.
S 1 e ST ] U feIg # 26 o o W

% T 1 =1 =01 v 2 2, Forga e W
21 Fagsi % ot Fparee 2

(A 1 uferm (B) 1dTe
(C) 17z (D) 1 3™
BN § a6 feufs gurd &
Wﬁﬁﬁmwnﬂ% |%q
(A) THFa 7 fasTa gfee

(B) Tawas a1e fasm g

(€) et =1 g e

(D) ST =et farmr e

HEMIE 71 43
(A) 900%. 9.
(C) 700%. 1.

FHFT V3x% + 11 + 6.3 =0 FEad
(A) V2,48 (B) 525*345
2 V3

[ 3
¥ R
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21. During ngﬁgﬂmﬂ& 2l PO oire
Eﬂd area of the gritish
(A) One-third
(B) Dﬂe-fw;“
(C) One-ten
(D) None of the above e
22, |f'GIVE'is coded @S 43, then TA
coded as
(A) 47 (B) g;
(C) 36 (D)
q
23. Which of the following form an AP 7
(A) 1,1,22,33

(B) 0.3, 033 0333, ...
(C) 2.2,2V2.4...
(D) 3,3+v2,3+242,3+32,...

24. According to Haryana Municiple Amendment
Act, anymale member contesting urban local
bodies election, must possess
as minimum education.

(A) MBBS

(B) LLB.

(C) 12"Standard
(D) Matriculation

25. Which of the following statement/s \s/are
true regarding 97" Amen
e i '? dment of the
(A) It made the right to form Self H
el
Group as a Fundamental Right i

(B) Ithasbrought 2 new provision into the

Pan IV of the Constitut] i
Principle of State F’ulicy}m Podhe
(C) Bolh are wrong

(D) Both are righ

26. Mustalabad is renamed as
(A) Brahmavart
(B) Saraswati Nagar
(C) Kisan Nagar
(D) Aryabhatta

3

22,

23.

24,

25.

26.

bt Bt b e b e B ERC R be AR 1 An ASLEER BT o] 0
WA HTHTSE =1 faha1 o &73 57 74 o, -
(A) U foerd '
(B) U= wHtyTs

(C) @&l um

(D) 3% ° & =78 4%

Al GIVE' 1 %2 43 8, Al TAKE' 1 3
& '

(A) 47 (B) 27
(B) 36 (D) 37
fefafEs 4 8 #9195 v aumETEr 2of
TAE 7

(A) 1,1,2,2 3, 3, ...
(B) 0.3,0.33, 0.333, ...

@ V2,222,4,..
(D) 3,3++2,3+242,3+3\/2,. ..

st F fm weneT sifufam & sman

ST T T % 919 w8 At O

~ATH ferféra e =nfew |

(A) TUR, =i, =i, g,

(B) UHAUA. 1.

(@) 12 = we

(D) e

BfEA9M F 97 4 gviivq ¥ gy § Frefafas

HAFE-91/3 Faq a2 ?

(A) THA T HEEA YR T F SAfEn
%1 U Hifern s1fasem amrn

(B) z& "fawm & wym- v EZ
ﬁ%ﬂm}ﬁﬁ:{mmugzmm

(® =1 7Terd 8

(B =1 w8 2

HEASIEIE 31 947 979 2
(A) wEmEd

($) FE=d 9

(C) TFEm am

(D) Wz
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27.

28.

30.

31.

Find the missing number (7) in the sequence
5. 11,23,7,95, 191,

(A) 47
(C) 49

(B) 48
(D) 50

Aquifer mapping done to assess
(A) Ground water situation

(B) State legal situation

(C) Position of women in the State

(D) Animal census

Consider the following statements and

choose the incorrect regarding Meghalaya
plateau.

(A) It is further sub-divided into Garo Hills.
Khasi Hills, Jaintia Hills

Flatgau stand detached from the main
Peninsular Block

It is also rich in mineral resources like
coal, iron ore, silimanite, limestone
and uranium

This area receives maximum rainfall
from the north-east monsnon

(B)

(©)

(D)

The first Haryanavi movie is
(A) Rijuvi (B) Dhart
(C) Yajurveda (D) Osho

Arrange the following structures of the

atmosphere from the surface of the Earth.

(A) Troposphere — mesosphere =
stratosphere —thermosphere

Troposphere —stratosphere —
mesosphere — the rmosphere

Stratosphere — troposphere -
mesosphere — thermosphere

Stratosphere — mesosphere =
troposphere — thermosphere

(B)

(C)

(D)

27.

28.

29.

30.

31.

4/2018 (1) (M17)

"i‘ﬁ,ﬁ- 11,23, 7, 95, 191 W §= @ (7)
E GG |

(A) 47

(C) 49

EGCRRCICIEEiEaa
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(%) e e

(B) =4 ) e feafs
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(D) ST 1 SHEE]
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[
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(@ Tz (D) s

yedl % wUee 4 agued #) afatas

) 48
(D) S0

T e TE
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32. Joginder Singh is a litterateur from
(8) Shahabad

(A) Jalsa
(C) Panipal (D) Ambala
by = 6
33. If the equations x — 2y = 3 and gt ]E:E of

represent the same line, then the va

bis i
(A) 4 (B) =

34. Balm ﬁkund Guptaisa ____literator
of Haryana.
(A) Sanskrit (B) English
(C) Urdu (D) Hindi

35. InAABC, AB = 613 cm, AC = 12 ¢cm and

BC =6 cm, then B is
(A) 120° (B) 60°
(C) 90° (D) 45°

36. The sum of digits of two digit number is 9.
Also, nine times this number IS twice the
number obtained by reversing the order
of the digits of the number Then the

number is
(A) 18 (B) 81
(C) 38 (D) None of these

37. RBI was sel up on the basis of the
recommendation of

(A) Indian Centraj Bank Enqui
Committee =

(B) Royal Commission
(C) Simon Commission
(D) Nehry Report

38. The total areg of Haryana s

(A) 44212 5Q. kms (B) 452125::;. kms
(C) 46212 s5q, kms (D) 47212 sq. kms

92

33.

34.

35.

36.

37.

J8.

39.

Wy,

it e A OF wfefm g |
(A) STeTEl (&) WITEeE

(C) W (D) TN

afe FHIEF x — 2y = 3 31 2% + by = 6 7,
wFH e, AbF AR

(A) 4 (B) -4

(@) -2 (D) Eﬁﬁ?ﬁfﬁ?ﬁ
ST e BT & U
aifefeeE € |

@ e (8) sirsh

(C) 3 (D) fe=

AABC § AB = 643 &.11., AC= 12 .1
IMBC=6 .2, a1 B2

(A) 120° (BY” 80°

(C) 90° (D) 45°

é@{@ﬂﬂﬂﬂﬁﬁ@%#ﬁfﬁ%ﬁ
;amﬁammm#zw%mﬁm

(&) 18 (B) 81

(C) 36 (D) 399 ¥ 78 78
A3t 3378 (RBlL) Eak:

% U 9T 3978 778 | P
GURLGIRE S o T S

(B) Ua& #diyp

(C) W35 Frffym

(D) &= foard

BICATYII 1 F a2

(A) 4422, B) 4eorpaited
©f 46212 7 fraf (D) 47212 FA,
4 A B F sy 4 g a1
e Gﬂ?ﬂ%. l ﬁmf
(A) H, (B) o

@ Co, -

(D) co
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41

42.

43.

45.

which of the fﬂl[ﬂwing hills S
€ as a

N Himalayas ang

(A) Tipra Hills
(8) Momi Hills
(C) Aravall Hills
(D) Ambala Hills
The distance between t
(-a,—b) are
(A) O

(©) 2Va?+b?

Ne points (a, b) and

(B) 1
(D) None of these

The main presence of Aravali Hills is found
in the District of

(A) Faridabad (B) Rohtak

(€) Gurgaon (D) Hisar

The ‘Champions of the Earth’' Award is
presented by

(A) UNDP

(B) UNFCCC

(C) UNEP

(D) UN General Assembly

into exlistence

Panchayat Raj Act came
Constitutional

pursuant to _____ =
Amendment Act.

(A) 71¢ (B) 72"
(C) 734 (D) 747

Ms. X moves 20 metres in the East direction
and then turns to her left and walks
15 metres and then tums 10 her right and
moves 25 metres. After this, she lumsgt:r
her right and moves 15 metres. I::GW-

far is she from the starting point *

(A) 35 metres (B) m"ﬂﬁiem
(C) 45 metres (D) None©

does not
HCI.
(A) Mg (8) CY
(C) Al o) Y

40.

41.

42,

45.

46.

4/2018 (1) (M17)
Freferfirs & 9 - el femrera atv
rHiFsfaaEs 8 7
(A) feae weriE!
() TR et
(C) srraeh Tl
(D) staTen ) wEEal

firg (a, b) 31 (—a,— b) F A= gl 2
(A) O (BY 1

©) 2Ja® +b? (D) ¥H @ FTE A
foret o ord STt @ |

(A) HIEETRE (B) TEaH

(C) TETE (D) femm
AfpH sl gEEr . W
yEqa fa o 2 |

(Ay UNDP

(B) UNFCCC

(C) UNEP

(D) TgFA U=, HerEl
gfagR R a0 F e
garad s st sfema w8 o

(A) 71 8y 72

(C) 73 (D) 74

g, X wd famn # 20 dew T@d § o iR
379 and et € afn 15 der awd € o fw

AT 2 qEa 25 Hiet Terdl 8| R e o
3Tl HEa 15 Hier Terdt #1 3@, a8 s
fra a2 ?

(& 35 T (B) 40 HiX

(C) 45Hr= (D) FAH & Frd T
T HCI % ay sl T
AT |

(& Mg 8) Cu

Z (D) Li
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47. If 5&:5:%  then value of

Je tan® @ — cosec”8 S
2cos?A—cot® @

(A) =2 (B) 0
©) 4 (D) None of these

48. If 157 of August was Wednesday, then
1* August of the same year was
(A) Thursday (B) Wednesday
(C) Friday (D) Saturday

49. During the freedom movement, who
among the following revolutionary tumed
into a philosopher 7
(A} Rash Biharl Ghosh
(B) Aurabindo Ghosh
(C) V.D. Savarkar
(D) Satyendranath Bose

50. Who amongthe following has been Speaker
of Haryana Vidhan Sabha for maximum
number of times ?

(A) Kuldeep Sharma

(B) Harmahendra Singh Chadda
(C) Satbeer Singh

(D) Ashok Kumar Arora

51. Complete the analogy.
Trigonometry Mathematies - :Zoalngy “a
(A) Botany
(B) C:hemiﬁtr}r
(C) Biology
(D) Bio-Chemistry

92.  The High Court has the iyric: .
Article 226 for the enfu.-glel;-,ﬂ:g‘tc::?ﬁ Under

(A) Civil Rights
(B) Sanctioning Rights
(C) Fundamental Righys
(D) Child Rights

47.

49.

50,

91.

52,

2
_i % ?ﬁ Etan H-Eﬂsﬁt};‘
TR se00= T & o6 oo

H HH &
20 (B) 0

(A) =
(D) ¥ & i3y

(C) 4
4f2 15 30T 1 FUER 71, 7 35 1 g,

Ealk)
(8) Fuan

(A) TFR
(C) AT (D) wIHEm

e AEeH & 2 freafefas 558
Fifasmrtl @ St &= ma ?

(A) TH faerl g

(B) qifE =Y

(C) =1, B, Gratat

(D) =19 =14

Frferfiaa 3 8 = et aw afamn f
B F TR g e 7

(A) FeTd Imi

(B) wwez fiw =gy

(C) wweir fae

(D) 79T FMT axirey
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3 of the ¢ .
3 side‘a’cm s NSCripeg in a
Sq!.lare o mu"lﬂ {1
S ) (M17)
(A) @ cm? 2 53. ‘' Af. ¥ 7 7 TeBiff vs -
na‘ em?2 (B) %—Em? &ﬁ i bl LD
—_——— m =
© 4 (D) Ef. , (A) a®¥.H1.2 (B) a® 1
¢z AandBarefrieng ! R 'y
A At NdBis2yeqry, © “adM: (o) ™ an,
B is twice as his < ICe ag old Nger 54. - =
Gdiﬂﬂrbyzmy:ge{c' e age o 2N :;ﬂ%;ﬁgﬁafﬂhﬁaﬂaﬁmﬁl
are respectively he ages of A'a and e D ‘.%“ﬂelfﬁ%ﬁﬁﬂ?ﬁ‘lm
2 nd'g’ TEACAANTH R | D3 CH amy o
(A) 26 yrs., 24 yr 40 T ] = 39
(C) 30yrs ans_ ®) 2515, 23 bl bl o bl
~eByrs. (D) Nope ‘i‘;fth:gr (A) 26 =, Edaﬂfﬁ (B) 257, 23 =74
§5. Which of the following i = (C) 3oad,28a (D) ¥ & wd el
harmone 7 g'sa plant 55, frefofad i 2
(A) Insulin B) O ' | A 21 O e g § 7
(€) Cytokinin s Sogen (A) ST (8) TR
(D) Testosterone (C) HTEZEEHA i
Damd is & )
56. ama lake is situated in the District w1
(A) Faridabad (B) Gur of | 56. =Hem i e feom 2
gaon (K) TR
ity (D) Hisar (B TpeIS
57. If'+' means ‘+' '+' means '~ ‘=' means ‘s
and ‘x' means ‘+', then 9 + 3 +5-3 :?Z 4 qfﬁ T.Eﬂ 3+, e 3T
(A) -5 (B8) 15 TR
(C) 25 (D) None of these iy =2 {5) 16
(€) 25 (D) T & 1§ 7
58. :‘:a lake which is dedicated to Sun Gn::dll:s 58. ad %9 %! uAfilq =fte 2
Damod ke (B) Anangpurlake :
(c; Haznmir:d lake :n; S:miggnd :;} TR (B) S
) EES ©) TS
59. The force that blood exerts againstthe wall | 59. 3 Zr anfeer fireft o emman SiaTen e
of a vessel is called el § |
(A) Diastolic pressuré (A) 3TF=A 2™
(B) Hemodialysis (B) e
(C) Systolic pressure (C) TF=1 7=
(D) Blood pressure (B} Ty
80. Asbestos is found in the nistriclﬂ’n 60. TERTH Foret i wran = B |
0 femm
(A) Hisar (B Gurgarn:lragsnrh l:] (B) TEa
(€) Kamal (D) Mae Sl (D) wEFTR
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fa=ft wran o2 qﬁ’ﬁ“’%{%ﬂ% i3 M’ w5 ataarE e
9. g9 9 = ' HHTH :
i (), =9 ®) Fhn
A) semfivm (g @ (C) ® o3
c
fJ o o) R 86. frffira # & we ad = w7 Fif |
80. T 7€ st | 4w v AT A N (B) ¥
BT 8 _ (C) W (D) FEm
{AT mﬂﬁiﬁ:{ﬁml i '
At . e et
(C) T & weht et |
(D) T & e 7t | (A) 1 8 3
‘ (G = D} 3
81. MEaEm W | wmamF T w G
gft=a #ifsm | | i R gifea Fifam |
(A) =ArETE T, v, S, # (#1) (@)
FF, @7 2 G 1. @TEs
(B) Wﬁiﬂﬁﬁm.mlmm b H. 19
FOF, @ wE e e w ' ,3' S92 AT, 39
I, ‘WY . S % 62
(D) SwfcaTe |31, e, wifa, (A) 1-3 2-§ 3-am 4-3
FE, @AY T (B) 1-31 2-3 3-3 4-%
82. I + ITHW = ‘wequaFr’ # o Wiy 2 7 © 1-3 2-w13-% 4-=
{AJ qﬁqﬁ; {Bf TTHEI ‘ [DF 1_§ 2-% 3-# 4 - 377
l’:C} qu] |@fy (D) & wfy 89. ‘W W A A AT werat v
83. R TH &1 TR v FH A 7 (A) o= mig =
(A) B T (B) TEETEY B S
(C) #4 0) Wz (C). AT &
84. 7E] G @ 31rs il 1 2 o sy (@) H3sPn
Wﬂqmﬂmﬁmg? M%i ‘ ’
(A) (B ey (A) migq'
(C) &Y (D) wegat
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